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CDS 1 2025 LIVE CLASS - MATHS - PART 5

Q) In the figure given below, £ A= 80° and ZABC = 60°. BD
and CD bisect angles B and C respectively. What are the
values of x and y respectively ?

BABC — arvtle Sum

pDBe — b= Ly= I30°

3
(@ 10and130 (b) 10and 125
(c) 20and130 (d) 20and 125
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Q) In the figure given below, £ A= 80° and ZABC = 60°. BD
and CD bisect angles B and C respectively. What are the
values of x and y respectively ?

A

(@@ 10and 130 (b) 10and 125
(¢) 20and 130 (d) 20and 125

Ans: (c)

EXAMS
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Q) In the figure given below, PQR is a non-isosceles right-
angled triangle, right angled at Q. If LM and QT are parallel

and QT =PT, then what 1s ZRLM equal to ?

P
qsnd
T
u5° k
) AN\ R
Q L
@ <£PQT _Jb) ZLRM
(c) ZRML (d) ZQPT

= PT=RYD
TQ /] ML
2pTh =9p° = L THML
ZRML = 9o°
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Q) In the figure given below, PQR is a non-isosceles right-
angled triangle, right angled at Q. If LM and QT are parallel
and QT =PT, then what 1s ZRLM equal to ?

P
T
M
R
Q L
(@) «£PQT (b) ZIRM
(c) ZRML (d) ZQPT

Ans: (b)

(@i=]
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Q)

In the figure given above, AD = CD = BC. What is the value
of £ CDB
(a) 32°

(b) 64°
© 78
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Q)
C 960

A I 1)) B

In the figure given above, AD = CD = BC. What is the value
of £ CDB
(a) 32°

(b) 64°
© 78

Ans: (b)

(@i=]



CDS 1 2025 LIVE CLASS - MATHS - PART 5

Q)If the bisectors Bl and CI of the angles B and C ofa AABC
meet at the point I, then what 1s ZBI/C equal to?

@ 24 ) w0+ 5 S
4
(©) 90°~ = (d) 90°+A4
7 —> intenfre 90" + LA

3
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Q)If the bisectors Bl and CI of the angles B and C ofa AABC
meet at the point I, then what 1s ZBI/C equal to?

@) 24 ®) 90+
A
(¢) 90“—5 (d) 90°+4

Ans: (b)
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Q)For a triangle, the radius of the circumcircle is double the
radius of the inscribed circle, then which one of the
following is correct ?

(a) Thetriangle is aright-angled
(b) The triangle is an isosceles

(¢) The triangle is an equilateral v/
(d) None of the above

R =0
rS
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Q)For a triangle, the radius of the circumcircle is double the
radius of the inscribed circle, then which one of the
following is correct ?

(a) Thetriangleis aright-angled
(b) The triangle 1s an 1sosceles
(c) The triangle 1s an equilateral
(d) None of the above

Ans: (c)
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Q) Consider the following statements
I. The perpendicular bisector of a chord of a circle does o
not pass through the centre of the circle.
II. The angle in a semi-circleisa right angle. /2
Which of the statements given above is/are correct?

(a) Onlyl Ab) OnlyIl
(c) BothIandII (d) Neither InorII
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Q) Consider the following statements
L The perpendicular bisector of a chord of a circle does
not pass through the centre of the circle.
II. The angle in a semi-circleis a right angle.
Which of the statements given above is/are correct?

(a) Onlyl (b) OnlylII
(c) BothIandII (d) Neither InorII

Ans: (b)
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Q)The side AC of a AABC is produced to D such that BC =
CD.If AACB 15 70°, then what 1s AADB equal to?

LAcH ZA%8,
\}a) 35° (b) 45°
(c) 70° d) 110°

q

L 1
% —
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Q)The side AC of a AABC is produced to D such that BC =
CD.If AACB 15 70°, then what is AADB equal to?

(a) 35° (b) 45°
() 70° d) 110°

Ans: (a)
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Q) In the figure given below L4BC= ZAED =90°.

Consider the following statements
I ABC and ADE are similar triangles. v/’
II. The four points B, C, E and D may lie on a circle.

Which of the above statements 1s/are correct?

D

B

(b) OnlylIl
(d) Neither InorII

(a) Onlyl
(¢) BothIandIl

LAED
LA

\)

JHBC = 90’
LA

AN
Sfml’(aw"w
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Q) In the figure given below L4BC= ZAED =90°.
Consider the following statements
I ABC and ADE are similar triangles.

II. The four points B, C, E and D may lie on a circle.

Which of the above statements 1s/are correct?

A
E
D
C B
(@) Onlyl (b) OnlylIl
(¢) BothIandII (d) Neither InorIl

Ans: (a)
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Q) Consider the following statement in respect of an equilateral

AABC.

I There 1s a point P inside the AABC such that each of its
sides subtends an angle of 120° at P.v’

II. Thereis apoint P inside the A 4BC such that the A PBC
is obtuse angled and A is the orthocentre of APBC. x

Which of the above statements is/are correct? —

(a) Onlyl v (b) OnlylIl

(c) BothIandII (d) Neither Inorll
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Q) Consider the following statement in respect of an equilateral

AABC.

I There 1s a point P inside the AABC such that each of its
sides subtends an angle of 120° at P.

II. Thereis apoint P inside the A 4BC such that the A PBC
is obtuse angled and A 1s the orthocentre of APBC.

Which of the above statements is/are correct?

(@) Onlyl (b) Onlyll

(c) BothIandII (d) Neither Inorll

Ans: (a)
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Q) A

38°
B C D
In the figure given, £B=38° AC=BCand AD= CD. What
1s ZD equal to?
(@ 26° (b) 28°
(c) 3% (d) 52°

(#)
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Q) A

38°
B C D
In the figure given, £B=38° AC=BCand AD= CD. What
1s ZD equal to?
(@ 26° (b) 28°
(c) 3% (d) 52°

Ans: (b)
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Q) In the figure given below, what is the sum of the angles
formed around 4, B, C except the angles of the AABC?

360" + 360°+ 360 =

108’
— 180"

0

2 C 9o0°

(a) 360° (b) 720°
(c) /900" (d) 1000°

/080’
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Q) In the figure given below, what is the sum of the angles
formed around 4, B, C except the angles of the AABC?

(a) 360° (b) 720°
(c) 900° (d) 1000°

Ans: (c)
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Q) Consider the following statements

I If the diagonals of a parallelogram ABCD are
perpendicular, then ABCD may be arhombus. ./

II. If the diagonals of a quadrilateral ABCD are equal and
perpendicular, then ABCDis a square. "
Which of the statements given above 1s/are correct?

(@) OnlyI (b) OnlylIl

(¢) BothIandII (d) Neither InorII

v
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Q) Consider the following statements

I If the diagonals of a parallelogram ABCD are
perpendicular, then ABCD may be a rhombus.

II. If the diagonals of a quadrilateral ABCD are equal and
perpendicular, then ABCD 1s a square.
Which of the statements given above 1s/are correct?

(@) OnlyI (b) OnlylIl

(¢) BothIandII (d) Neither InorII

Ans: (c)
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Q) A ADEF is formed by joining the mid-points of the sides of
AABC. Similarly, a APQOR 1s formed by joining the mid-points
of the sides of the ADEF. If the sides of the APQOR are of
lengths 1, 2 and 3 units, what 1s the perumeter of the AABC?
(a) 18units (b) 24 units
(¢) 48units (d) Cannotbe determined

PQ + Gf+PR = [+d45 =

@xs = QY uniff B

6
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Q) A ADEF is formed by joining the mid-points of the sides of
AABC. Similarly, a APQOR 1s formed by joining the mid-points
of the sides of the ADEF. If the sides of the APOR are of
lengths 1, 2 and 3 units, what 1s the perumeter of the AABC?
(a) 18units (b) 24 units
(¢) 48units (d) Cannotbe determined

Ans: (b)
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Q) InaAABC, AD 1s the median through 4 and E 1s the mid—
point of AD and BE produced meets AC at F. Then, AF'1s

equal to
@) AC/5 (b) AC/4 >ADG,
9146’/3 d) AC/2 ep 1106
A A - L
ED PG /

X“P" 6F = <4
) = 9_(2_ :—L[- =
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Q) InaAABC, AD 1s the median through 4 and E 1s the mid—
point of AD and BE produced meets AC at F. Then, AF'1s

equal to
(@ AC/S (b)y AC/4
(c) AC/3 (d)y AC/2

Ans: (c)
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Q) The angles of a triangle are in the ratio4 : 1 : 1. Then the

ratio of the largest side to the perimeter 1s 30
: ’ 1 4 xigt =0
2 / 0
— 20
(c) 33 (d) -
C
: 1++/3 \
243 3 1 - ksinizo® = V3l
Sine formu/ﬂ/ q _ b . - k [ - k&l‘nzo" - _k__/z’
InA 4in8 Sine | ¢ = kSip3o° “kf,
s - b -t =k -
Snme®  enid’  Sindt’ |
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v(mdwf tide = 0
A (' . W

-

2
a+b+ ¢ - o +3

Vky Lhs 2k
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Q) The angles of a triangle are in the ratio4 : 1 : 1. Then the
ratio of the largest side to the perimeter 1s

2 |
@ 3 ® 375

\/§ 2
(©) 2+J§ (@) 1+x/§

Ans: (c)
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Q)Based on the figure below, what is the value of x, if y = 10

x+4

(@) 10 - (b) 11
(¢) 12 (d) None of these
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Q)Based on the figure below, what is the value of x, if y = 10

x+4
(@) 10 (b) 11
(¢) 12 (d) None of these

Ans: (b)
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Q) A closed polygon has six sides and one of its angles is 30°
greater than each of the other five equal angles. What is the
value of one of the equal angles?

(@) 55° (b) 115°
(c) 150° (d) 175°
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Q) A closed polygon has six sides and one of its angles is 30°
greater than each of the other five equal angles. What is the
value of one of the equal angles?

(@) 55° (b) 115°
(c) 150° (d) 175°

Ans: (b)
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Q) In the figure given below, AC 1s parallel to ED andAB =DE
=5 cm and BC =7 cm. What is the area ABDE : area BDE :
arca BCD equal to ?

E 5cm D

A Scm B cm C

@ 10:5:7 (b) 8:4:7
(¢c) 2:1:2 (d) 8:4:5
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Q) In the figure given below, AC 1s parallel to ED andAB =DE
=5 cm and BC =7 cm. What is the area ABDE : area BDE :
arca BCD equal to ?

E Scm D
A Scm B cm C
@ 10:5:7 (b) 8:4:7
(¢c) 2:1:2 (d) 8:4:5

Ans: (a)
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Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DArespectively. Then the quadrilateral
PQRS1sa
(a) Square
(b) Rectangle, but need not be a square
(¢) Rhombus, but need not be a square
(d) Parallelogram, but need not be a rhombus



CDS 1 2025 LIVE CLASS - MATHS - PART 5

Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DArespectively. Then the quadrilateral
PQRS1sa
(a) Square
(b) Rectangle, but need not be a square
(¢) Rhombus, but need not be a square
(d) Parallelogram, but need not be a rhombus

Ans: (c)
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Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of the diagonals
(b) Sum of the other pair of opposite sides
(c) Sum of two adjacent sides
(d) None of the above
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Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of the diagonals
(b) Sum of the other pair of opposite sides
(c) Sum of two adjacent sides
(d) None of the above

Ans: (b)
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Q) A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The
diagonal of the square 1s given by

Pq P4
(@) p+2q (b) 2p+q
J2 2
©) Pq (@ Pq

pPtq prq
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Q) A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The
diagonal of the square 1s given by

Pq pPq

(2) p+2q (b) 2p+q
© \/qu d 2pq
ptq ptq

Ans: (c)
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Q) Arhombus is formed by joining midpoints of the sides ofa
rectangle in the suitable order. If the area of the rhombus is
2 square units, then the area of the rectangle 1s

@) 2./2 squareunits  (b) 4 square units
(c) 4.2 squareunits  (d) 8 square units
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Q) Arhombus is formed by joining midpoints of the sides ofa
rectangle in the suitable order. If the area of the rhombus is
2 square units, then the area of the rectangle 1s

@) 2./2 squareunits  (b) 4 square units
(c) 4.2 squareunits  (d) 8 square units

Ans: (b)
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Q) ABCD is a parallelogram with AB and AD as adjacent sides.
If ZA=60° and AB =2AD, then the diagonal BD will be

equal to

@ 2AD (b) 3AD
(c) 2AD (d) 3AD
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Q) ABCD is a parallelogram with AB and AD as adjacent sides.
If ZA=60° and AB =2AD, then the diagonal BD will be

equal to

@ 2AD (b) 3AD
(c) 2AD (d) 3AD

Ans: (b)
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Q) In the figure given below, PQRS is a parallelogram. PA bisects
angle P and SA bisects angle S. What 1s angle PAS equal to ?

@) 60° (b) 75°
(c) 90° d) 100°
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Q) In the figure given below, PQRS is a parallelogram. PA bisects
angle P and SA bisects angle S. What 1s angle PAS equal to ?

@) 60° (b) 75°
(c) 90° d) 100°

Ans: (c)
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